SHTE 6H30H [k & (1 HEFREME)
(B :=1))
HE LT b ]

B (X=B|F)l |58 |HE |[HEE(PR [Z8 | |[BEE[EH (B |EE |di [AF  [KM | P \RE |FH (TS [Ek |#E
1 0.5 0.5 0.5 0.5 1.0
2 1.5 1.0 0.5 0.5 0.5 1.0 1.0 1.5 1.5 1.0 1.0 1.0 0.5
3 0.5 4.0 2.0 1.0 3.5 2.0 1.5 1.0 5.5 5.5 1.0 9.0 1.0 4.5 6.0 3.5 2.5 1.0 1.5
4 0.5 2.0 0.5 0.5 0.5 3.5 6.0 0.5 1.5 5.0 8.0 9.0 7.0 9.0 14.0 3.5 3.5 1.5
5 2.5 0.5 0.5 2.0 0.5 0.5 1.0 2.0 1.5 8.0 1.5 11.5 5.0 4.5 4.5
6 0.5 0.5 0.5 3.0 1.5 1.5 1.5
7 1.0 0.5 3.5 2.5 11.0 6.5 12.0{ 21.0] 220 2.5 4.0 0.5
8 0.5 0.5 1.5 1.5 14.0 9.0 22.5 15.0 10.0 245 17.0 29.0 23.5 17.5 2.5 2.5 5.0
9 1.0 3.5 4.5 5.0 5.5 1.0 0.5 13.5 14.0 10.5( 20.0) 20.0] 20.0 13.5 17.0 18.0 15.5 6.5 5.5 9.0
10 7.0 5.5 3.5 3.5 5.5 3.0 3.0 8.5 6.5 18.5 13.0 12.5 16.0 16.5 14.5 20.5 9.0 12.5 18.5 4.5 4.5 2.0
11 0.5 0.5 1.5 6.5 5.5 4.5 0.5 4.5 2.5 2.5 4.5 6.0 2.0 15.0 2.0 1.5 3.5 10.0 11.0 6.0
12 0.5 1.0 2.5 1.0 1.5 3.5 1.0 0.5 3.0 1.5 1.0 1.5 2.0 5.5 2.0
13 0.5 3.0 1.5 1.5 3.0
14 1.0 2.0 0.5 0.5 1.0 0.5 3.5
15 0.5 0.5 4.0
16 0.5 0.5 0.5
17 1.0
18 0.5 0.5 0.5 6.0
19 0.5 0.5 0.5 1.0 0.5 0.5 0.5 1.0 0.5 1.5 1.5 0.5 9.0
20 0.5 0.5 3.0 2.5 1.5 0.5 1.0 4.0 2.5 1.5 3.5 3.5 2.5 3.0 6.5 5.5 4.0
21 0.5 0.5 0.5 4.0 2.0 0.5 0.5 1.5 1.0 2.5 1.5 1.0 0.5 2.5 0.5 1.0 0.5 1.0 1.0 0.5 0.5 2.0
22 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 2.0
23 1.0 0.5 0.5 0.5 1.0 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 1.0 2.5
24 0.5 1.5 0.5 1.0 2.0 2.0 3.0 1.0 3.0 3.5 4.5 8.5 4.0 4.5 4.0 2.0 2.5 2.5 0.5
£t 12.5 12.5 7.5 17.0 27.0 18.0 22.5 22.0 17.5 68.5 52.0 67.0 81.0 74.0( 105.5| 104.0 95.0] 103.5 1215 54.5 55.0 71.5

SHTE 7818 [k & (1 BEFRE{E)

(BifE:31))
mE LNTN] P

B |X=B|FE) |58 |EE |FEE|hR |ZH |#L |mEE | ek [BEit |RE |l |[AF KM |k R J\WEE [FH |FHS Ak |#HE
1 1.0 1.0 2.5 2.0 1.5 2.5 1.5 1.0 2.0 2.5 3.5 3.0 5.5 7.0 5.5 4.0 4.5 1.5 1.5 0.5
2 0.5 1.5 2.0 2.0 1.5 3.5 2.0 6.5 4.5 4.5 8.5 8.5 5.0 8.0 2.5 4.0 2.5 5.5 3.0 5.0
3 0.5 3.0 5.5 8.0 6.5 1.0 1.0 5.5 5.5 1.0 4.0 4.5 1.5 4.0 1.0 2.5 3.0 4.0 4.5 5.0
4 25 5.0 4.5 1.0 0.5 3.0 2.5 1.0 3.0 3.5 3.0 3.5 0.5 1.5 7.0 2.5 2.5 3.5
5 1.0 1.5 2.5 3.0 0.5 1.0 3.0 0.5 2.5 4.0 0.5 1.0 1.5 2.0
6 1.0 1.0 0.5 4.0
7 1.0 1.0 1.5 1.5
8 0.5 0.5 0.5 1.0
9 0.5 0.5 0.5 1.0 1.5 1.5 1.0 3.0 0.5 1.0 0.5
10 0.5 0.5 0.5 0.5 1.0 0.5 1.5 1.5 1.0 1.0 1.0 1.5
11 0.5 0.5 0.5 0.5 1.0 0.5 1.0 1.0 1.0 2.5
12 0.5
13 0.5 1.0
14 0.5
15 0.5
16 0.5
17

18 0.5
19

20 0.5 0.5 0.5 0.5 0.5 0.5 0.5
21 0.5 1.5 1.0 0.5 2.0 2.5 1.5 2.0 2.0 4.0 8.0 2.5 4.5 6.5 4.0 2.5 1.0
22 1.0 0.5 0.5 0.5 1.0 1.5 2.0 3.5 1.0 2.5 2.5 3.5 6.0 1.0
23 0.5 0.5 0.5 0.5 0.5 0.5 1.0 5.5 4.5 0.5
24 0.5 0.5 0.5 0.5 0.5 1.5 6.0 5.5

B 1.5 0.5 6.5 15.5| 22.0] 205 9.0 6.0 21.0] 220 12.5| 24.0] 275 240| 420 17.5| 23.5| 355 37.5| 36.0/ 335
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o AT i
B (K=& [N |4k [FE |HEE|RR |E@ |l [BEMA|b# [ttt [RIE Bl [AF  |KM [if P \BE T [FHS |k |#HE
1 0.5 1.0 0.5 0.5 0.5 0.5 1.0 0.5 1.0 20 1.0 1.5 20
2 0.5 0.5 0.5 0.5 0.5 1.0 1.0 1.0 0.5 15 1.0 1.0 15 2.5 3.0 2.0 2.0 15 15
3 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 1.5 1.0 1.0 1.0 1.0 1.5 1.0 1.0 1.0 0.5 0.5
4 1.0 1.0 0.5 0.5 1.0 1.0 1.0 1.0 0.5 1.0 0.5 0.5 0.5 0.5 1.0 1.0 0.5 2.0 1.0
5 1.5 5.5 5.5 1.5 1.5 0.5 1.0 4.5 4.5 1.5 20 1.5 1.5 1.5 1.0 1.0 0.5 0.5 1.0 5.5 8.5
6 45 4.5 2.5 1.5 2.0 2.0 4.0 4.0 1.0 15 1.0 0.5 0.5 0.5 0.5 1.0 0.5 0.5 3.5 45
7 1.5 1.5 20 2.0 25 1.0 20 20 1.0 1.0 1.0 1.0 1.0 0.5 0.5 1.0 0.5 15 3.0 5.0 0.5
8 1.0 0.5 1.0 0.5 1.0 1.0 0.5 0.5 1.0 1.0 1.0 1.0 15 1.0 1.0 0.5 0.5 1.0 115
9 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 1.0 1.0 1.0 1.5
10 0.5 0.5 0.5 0.5 1.0 1.0 0.5 0.5 3.0
11 25
12 0.5 0.5 2.5
13
14
15
16
17
18
19
20
21
22
23
24
it 30| 145] 135 8.0 7.0 8.0 75| 145] 140 15 8.5 9.0 8.0 8.0 8.5 100 10.0 9.0 110] 180 225 215
FHTE 6A30HE~7A2HD &R
(BfI:3Y)
o= AT i
A=ZE|FN [§8 [FEE |HEE|BR (M (Bl |EEE|EH [EE[RE [P [AF (KM ik BME|\BEE |FH [T Ak [#E
&&| 155 285| 215| 315| 495 48.0| 505| 455| 375| 970/ 825| 885| 113.0| 109.5| 138.0| 156.0| 122.5| 136.0| 168.0| 110.0| 113.5| 126.5




